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Treatment of offenders that involves various experts and departments refersto  treatment

behavioural
meta-analyhcal
cognitive
multi-systemic

W N -

{1

Joseph is found gulty on a charge of armed robbery and 1s sentenced to a term of
impnsonment It 1s believed that this purishment will condition him to avoid committing cnme In
future This view 1s part of

1 rehabilitation ideal

2 individual deterrence
3 general deterrence
4 imprisonment threat

(1)

Victim impact statements provide the court with four types of information Indicate which one of
the following options 1s NOT one of the four types of information

The circumstances of the cnmes and the way in which it has been committed
The effect of the crime on the community

The identity and character of the victim

The effect of the cnme on the victim and the victim's tamily

B WM =

(1)

The Department of Correctional Service's new policy has resuited in for offenders, which
focuses on delivery programmes with non-governmental and community-based organisations
where there 1s joint care for offender development and rehabilitation to meet the individual needs
of the offender in the community

rentegration
rehabilitation
practice
support

W =

(1)

John 1s an advocate for human nights He argues that society contnibutes to many cniminogenic
factors 1n South Africa and that society therefore has a duty towards offenders John's argument
15 based onthe  theory

Justice
rehabilitation
retntegration
neo-utiitanan

AW N —

(1)
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When the court has to decide on an appropriate sentence, It firstly has to constder the crime as
part of the traditional tnad As such the court will consider the following

1 Nature and gravity of the cnime, status of the accused 1n the community, motive for the
cnme, willingness of the accused to compensate, impact of the crime on the vichm

2 Local pattern of the crime, public opinion, impact ot the cnime on the victim, motrve for the
crime, nature and gravity of the crime

3 Existence or absence of previous convictions, sense of indignation about a vile deed,
public opinion, discouragement of taking the law into own hands, motive for the crime

4 Motive for the cnme, willingness of the accused to compensate, impact of the cnme on the
victim, status of the accused In the community, protechon of the community

(1)

Joan is a psychologist employed by the Department of Correctional Services. She manages all
treatment programmes and 1s of opinion that treatment should neutralise the crminogenic
factors that contributed to crme Joan’s argument 1s based onthe  approach to treatment

rehabilitative
proad
ethical
aetrological

BN =

(1)

Indicate the most correct option Medical and health problems, conditions that can impinge the
constitutional principle of humane detention, the creation of a breeding ground for gang activittes
and violence, as well as safe custody, are all aspects related to

1 santtation
2 management
3 overcrowding
4 standards

{1

Some offenders still mantain that they are not guilty of crime even after convicion This fact led
to the view that the retributive approach 1s not eftective when it comes to the realisation of
responsibility To address this lack of responsibliity on the part of the offender the  justice
theory was developed

remtegrative
multisystermic
utilitarran
restorative

BN =

{1)

Indicate the most correct option Tina i1s a behavioural psychologist, who 1s of opinion that a
person’s choice of behaviour 1s based on his/her search for pleasure This view Is based on the
concept of

prevention
deterrence
rehabilitation
hedonism

WM~
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Periodic iImprisonment 1s a permissible sentence In respect of any cnime, except for cnmes
where a  sentence is prescribed by the law

suspended
mirimum

alternative
communty

BN =

(1

As far as the offender’s part in the traditional triad 1s concerned, which of the following factors
must be considered dunng sentencing?

1 Physical, mental and emotional state, existence or absence of previous convictions, motive
for the crime
2 Impact of iong-term incarceration, remorse and willingness to compensate, public opinion

3 Existence or absence of previous convictions, impact of long-term incarceration, physical,
mental and emotional state
4 Motive for the crime, vigilantism must be discouraged, the nature and gravity of the cnme

(1)

During a strike thal turned violent, a shop owner was assaulted by one of the strkers named
Lawrence Lawrence was arrested and during the tnal his colleagues testified that he is a genlle
person and that this cnme is contrary to his nature An expert witness i1s called to expiain
Lawrence's behaviour and mentions the occurrence where an mdividual can be radically
transformed by the behaviour of a group of which he forms part, to the extent of developing a
collective mind The view of this witness refers to

undue influencing
contagion theory
rehabilitation potential
correctional motive

AW h =

(M

Which one of the following options is regarded as the central theme offered as the rationale
behind imprisonment as a punishment cbjective?

Capacity ehmination

Social defense

Offence probality decrease
Cnme prevention

2 O3 PO =

o

There 15 a demand that the scope of the legal system be enlarged so that the future kie of the
offender in the community 1s considered, both dunng sentencing and in the correctional phase
This demand 1s based on

1 reintegration
2 rehabtiitation
3 justice

4 assessment

(1)
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Indicate the most correct option The primary consideration in penance 1s not the harm done by
the crime, but rather the

maotive for the crime
feelings of society

effect on the vichm

moral blame of the offender

W =

(1)

The duration of penodic iImprisonment to which an offender can be sentenced can vary from 100
to 2000 hours and the sentence 1s served over penods of at feast

1 12 hours
2 24 hours
3 36 hours
4 48 hours
(1)
Compulsory minimum sentencing might impinge on the principle of and could be

unconstitutional

1 rationality

2 equity

3 reliabiity

4 proportionality

(1)

The philosophy underlying the classical school of crminology 1s based on cerain premises
Indicate which of the following options are related to the classical school of criminology

(a) The greatest happiness or pleasure through minimum pain should be pursued for the
greatest number of people

b}  The justification for punishment is to be found in the retribution

¢) The hedonistic principle, namely that every person strives for pieasure and avoids pain

d) Offenders pay their debt to the cnme victim and society and thus become reconciled 10 the
legal order that existed before the balance was disturbed by the cnime

(&) The assumption that every person has a free will to distinguish between right and wrong

(
(
{

Choose the most correct combination

1 {a), (b)
2 (b)(c)
3 (c)(e)
4 (a) (@)

(1)
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Nadene, aged 84, 1s tried on a charge of murder after killing her hfe-pariner, Pete, by delberately
giving hum an overdose of pamn killers During the trial, it comes to ight that Pete, who suffered a
lot of pain and who was terminally 1Ilt, begged Nadene to kill tum Nadene, who 1s of a very low
intelligence, experienced a lot of stress as a result of her life-partner's iness During the tnal she
1s very tearful and shows a lot of remorse for what he has done

How many mitigating factors are present in the above scenario?

2 factors
3 factors
4 factors
5 factors

BN —

(M

Julian 1s convicted of culpable homicide and driving under the influence of alcohal after colliding
with a cycler, kiling him nstantaneously Julian is instructed by the court to pay the cycler's
family a certain amount of money In terms of the Cnminal Procedure Act, Act 51 of 1977, this
refers to

compensation order
restitution order
restorative justice
community fine

B WA —

1)

Sentencing 1s one of a presiding officer's most difficult tasks Which of the following
combtnations represent Van der Merwe's three approaches of sentencing?

The constitutional, consistent and indeterministic approach
The mtuitive, rational and empincal approach

The determimistic, balanced and hard hearted approach
The aggravating, rational and empirical approach

HW N =

(1)

When a person 1s punished, the aim should not merely be purishment for the sake of
purishment Effective programmes should be utilised to rehabilitate and prevent cime Which
programme, according to Muntingh, would be most effective in this regard?

Social integration
Restorative justice
Multisystemic
Meta-analytical

WM -

(1)
Which one of the following options 1s NOT a punitive objective?

1 Retribution

2 Clemency

3 Deterrence

4 Rehabilitation
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25 Justice In sentencing consists of two elements, namely  and
1 proportionakty, revenge
2 revenge, retribution
3 consistency, proportionality
4 revenge, consistency
(1)
[25]

SECTION B Answer THREE questions  ONE 25 mark question;
ONE 15 mark question, and

ONE 10 mark question

Answer one question (Number your answers exactly as they appear on the question paper}
1 Discuss the modern philosophy of rehabilitation (25)

2 Elaborate on correctional supervision as a form of punishment (25)

Answer one question (Number your answers exactly as they appear on the question paper)

3 Indicate and briefly discuss which factors can contribute to overpopulation in South African
prisons (15)
4 Explain how restorative justice can play a role in the reintegration process (15)

Answer one question (Number your answers exactly as they appear on the gquestion paper)

5 Indicate how retnbution can play a roie in restoring a disturbed iegal balance (10)
6 Discuss “ordinary” imprisonment as one of the different forms of punishment (10
[501

Total: 75 marks

©
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